APS INTERNATIONAL SCHOOL, UJHANI
SUMMER HOLIDAY HOMEWORK (2024-25)
CLASS- XI (COMMERCE)

SUBJECT- ENGLISH

English core Project work

A.Students can choose a topic on which to do their research/ interview, e.g. a student can
choose the topic : “ Evolving food tastes in my neighbourhood” or “Corona pandemic and
the fallout on families.” Read the available literature.

B.The student can conduct interviews with a few neighbours on the topic. For an
interview, with the help of the teacher, student will frame questions based on the
preliminaryresearch/background.

C.The student will write an essay/ write up / report etc. up to 1000 words on his/her
researchand submit it.

D.He/ She will take a viva on the research project. The project can be done in individually
or inpairs/ groups)

E.Students can listen to podcasts/ interviews/radio or TV documentary on a topic and
prepare a report countering or agreeing with the speakers. Write an 800 - 1000 words
report and submit.

F.Students can create their own video/ Audio, after writing a script.

F.Students can write, direct and present a theatrical production, /One act play.

SUBJECT- ACCOUNTANCY

Note: Use a Single Separate Note Book on Accountancy and Business Studies holiday
homework.

WORKSHEET 01

Q1 What is meant by Accounting?

Q2 Give any two objective of Accounting.

Q3 Give two difference between Book Keeping & Accounting?
Q4 Who is end Product of Financial Accounting.

Q5 What are the Internal uses of Accounting Information?
Q6 Name any 4 external uses of Accounting.

Q7 Mentioned any two advantages of Accounting
WORKSHEET 02

Q1 What is Capitals?

Q2 What are Drawings?

Q3 What are liabilities?

Q4 What are Goods?

Q5 What are Assets?

Q6 Define Merchandise.

Q7 What is Trade Discount?

Q8 What is Cash Discount?

Q9 What is Voucher?

Q10 What is revenue?

WORKSHEET 03

Q1 Give two examples of Intangible Assets?

Q2 What are fictitious Assets?

Q3 What are current liabilities?

Q4 Note any 5 Tangible Assets.

Q5 Note any 3 Intangible Assets.

Q6 Note any 5 Current Liabilities.

Q7 Note any 4 Non current liabilities.

Q8 Question NO. 18, Page No. 6.30 (New Book)

Q9 Question NO. 15 & 16, Page NO. 6.29 (New Book)




SUBJEC I'- BUSINESS STUDIES

WORKSHEET 01
Q1 Which of the following characteristics is related to employment?
(a) Production of goods and service (b) Sale or exchange of goods and service
(c) Salary or wages (d) Service motive
Q2. Match the following items of Column (A) with the items given in Column (B).
Column A Column B
A. | Natural Cause (i) | Change in government Policy
B | Human Cause (ii) | Famine
C. | Economic Cause (iii) | Theft
D. | Other Cause (iv) | Change in technology of prodction
a) A-(ii), B-(iii), C-(i), D-(iv) (b) A-(i), B-(ii), C-(iv), D-(iii)
c) A-(iii), B-(i), C-(ii), d-(iv) (d) A-(iv), B-(ii), C-(iii), D-(i)

Q3. H.K. Ltd. is such a company which is concerned with using materials, which have already
been extracted at a primary state. This company processes such materials to produce goods for
final consumption or for further processing by other industrial units. Identify the type of
industry to which these companies are related.

(a) Primary Industry (b) Secondary Industry
(c) Tertiary Industry (d) None of the above

Q4. If Mr. Rajeev sells his domestic sofa set at a profit, he will not be considered as a
businessman. But if he sells sofa sets regularly either through a shop or from his residence, he
will be regarded as a businessman. Identify the characteristics of business discussed above.
(a) An economic activity (b) Dealings in goods and services on a regular basis
(c) Sale or exchange of goods and services
(d) Profit earning

Q5. Differentiate Between Business, profession and employment.

Q6. Draw a chart showing classification of Industry.

Q7. Rakesh's father gifted him a cricket bat on his birthday. The cost of the bat was ? 800. Few
months later, Rakesh sold it to Nishant, one of his school friends, for ? 850. He was very
happy to earn a profit of 7 50. He was boosted by this transaction and after completing his
studies, he formed a partnership business with his friend Nishant trading in bats and other

sports materials under the name M/s Rakesh Traders. Rakesh and Nishant both act like an agent
as well as principal of each other. Firm soon started earning good profits. Rakesh's father
suggested them to spend some money on social responsibilities. They then decided to donate
free sports goods to schools which were financially weak.

(a) Can the transaction between Rakesh and Nishant be termed as business transaction?

Give reason.

(b) Can the transaction between M/s Rakesh Traders and other persons be termed as business
transactions? Give your reason.

(c) Which feature of partnership form of business is mentioned above?

(d) According to you which value motivated the partners to donate sports goods? Give any one
suitable value.

Q8. Akshat runs a well known departmental store in Gwalior. He procures different kinds of
products from all over the country through railways, roadways and airways. He also owns a
godown to hold the stock. He has taken an insurance policy worth 25 crores for his business.
Moreover, he has taken a loan of Rs 5,00,000 from SBI bank in order to meet all short term
needs of business. He has also placed information about his store on hoardings. In the context

of the above information about Akshat's business, answer following questions:

(a) What are auxiliaries of trade?

(b) Identify the auxiliaries of trade that are being used by Akshat in his business by quoting lines

from above paragraph.

(i) 'He procures different kinds of products from all over the country through railways, roadways

and airways'

(i) 'He also owns a godown to hold the stock'.

(iii) 'He has taken an insurance policy worth ts crores for his business'.

(iv) 'He has taken a loan of Rs 5,00,000 from SBI bank in order to meet all short term needs of
business'.

(v) 'He has also placed information about his store on hoardings'

(c) Why should goods be insured?

Q9. Identify the following as traits of business, profession and employment:

(a) Hari sells mobile phones on behalf of his employer.




(D) TTTequires mimimum academic and other quariications.
(c) A hawker sells toys for children outside a function.

(d) Sanjay is an advocate of High Court.

(e) Dhruv is the manager of a Mobile Company.

(f) A person repairs scooters on roadside.

(9) Shyam works as a Sales Executive in a mobile company.

WORKSHEET 02

Q1 After paying the full compensation, the insurer enters into the shoe of insured. This a related

to:

(a) Principle of indemnity (b) Principle of subrogation

(c) Principle of contribution (d) Principle of good faith
Q2. The prime objective of Insurance is:

(a) Risk Management (b) Capital management

(c) Financial management (d) Investment planning
Q3. Hull" and "Cargo" words relates to which type of insurance?

(a) Marine Insurance (b) Life Insurance

(c) Fire Insurance (d) Motor Insurance

Q4. Which of the following services of Bank permits withdrawal of money more than the balance
in the account?:

() Bank draft (b) Banker's cheque
(c) Overdraft (d) Fixed deposit
Q5. Which of the following is also known as contract of Assurance?
(a) Fire Insurance (b) Marine Insurance
(c) Life insurance (d) Health Insurance

Q6. Differentiate between Insurance and Assurance.

Q7. Mr. Anmol has a current account in State Bank of India, he is having many transactions of
funds transfer every day. One day he asked bank manager to transfer $50,000 to a client in
Mumbai immediately.

The bank manager replied to transfer the fund immediately minimum amount is 22,00,000.
In the context of above case

(a) Identify the concept discussed in the above case.

(b) Explain any three features of that concept.

Q8. Mr. Rajiv took an Insurance Policy against his car and after three months he sold it to Mr.
Kailash. The car was stolen from outside of Mr. Kailash's house. Mr. Rajiv made a claim to
Insurance company. His claim was rejected on the ground that Mr. Rajiv was no longer owner
of the car, so he has no insurable Interest and he has no financial loss with the loss of the car.
(a) What does 'Principle of Insurable Interest state™?

(b) Was Mr. Rajiv right in making claim?
(c) Who should get the compensation?

Q9. Explain overdraft facility of a bank.

Q10. Telecom services are the backbone of every business activity. In the absence of telecom
service every business activity will remain as a dram only. There are lots of developments in
convergence of telecom, IT, electronic and media industry worldwide. Government of India
has developed Telecom Policy framework 1999 and broadcast policy 2004. Tata Sky is a
direct broadcast satellite television provider in india. It is a joint venture between the Tata
group and 215t century Fox. Its primary competition is with Dish T.V., Reliance Digital TV,

Airtel etc.

On the basis of the given information, answer the following questions.

(a) Identify the type of tele communication service provided by Tata Sky. Expalin.

(b) Explain any other two tele communication service provided by Tata Sky

SUBJECT- ECONOMICS
Q1 You need to collect data from your neighbourhood of atleast 10 children. [Prepare a
table of S.No., Name of the child, Age, Gender, School, Class]
Q2 Analyse the result of Loksabha Election 2024 and present the data in bar diagram.
[Political party name, No. of seats it win]
Q3 As a consumer. You need to consume atleast 5 different products (purchased from
market). Prepare a table of ingredients used in these products. Paste the wrappers on A4
Sheets.
Q4 Prepare a project file on the topic of ‘PPC’. [Atleast 10 pages along with graphs]




SUBJECT- HINDI

1. BRI I d=a9 1 Flerd Sig-, Hiodl g |iiefcad e & R 7 foffay | a1 aRer
¥ greTaral <3 Bl Seld Herdl & | ‘Blddre’ w1 87 |ag H forfy |

2. WA & HEd Bl U Y 120 WR[ H TP 3rgeos oIy |

3. IYFd U B ART {6 B8 ST 87 SAPT Glara IR=y, TN g |iiefcad IR & aR
¥ forRag |

SUBJECT- COMPUTER SCIENCE NEW
NOTE: Do the following in your notes copy.

WEEK 1

1 Name the software required to make a computer functional. Write down its two primary
services.

2 What is the need for secondary memory?

3 What is the need of RAM? How does it differ from ROM?

4 Arrange the memory units from smallest to biggest: Giga Byte, Tera Byte, Mega Byte,

Byte, Peta Byte, Kilo Byte.
5 What is the difference between an interpreter and a compiler?
6 Write short notes on Assembler, Compiler and Interpreter.
7 Identify the category (system, application, programming tool) of the following software:
8 Compiler b) Assembler ¢) Ubuntu d) Text editor
9 What do you understand by flash memory?

10 What is computer hardware? Give any two examples.

11 The computer follows the IPO cycle that refers to Input-Performance-Output.
(True/False)

WEEK 2

1. What is base or radix of the number system? Give the radix of all number system.
2. Mention the different types of number system.

3. Write the following conversions.

(i) (514)8 = (?)10

(i) (4D9)16 = (?)10

(iii) (220)8 = (?)2

(iv) (11001010)2 = (?)10

(v) (76F)16 = (?)10

(vi) (1010111)2 = (?)10

4. How does computer understand the following text? (hint: 7 bit ASCII code).

(i) HOTS

(i) Main (iii) CaSe.

5. Express the following octal numbers into their equivalent decimal numbers.

(i) 145

(ii) 6760

(iii) 455

(iv) 10.75

6. Encode the word ‘COMPUTER’ using ASCII and convert the encoded value into binary values.
7. Add 110011(2) to 111000(2).

8. Convert 256710) to binary, octal and hexadecimal.

9. Complete the sequence of following octal numbers : 525, 526, 527, ............... e :

WEEK 3

Complete the following:
@A+0=__
bA+1=__
(c)A.0=__




A I=__
2. What is the dual of 1+1=1?
3. Draw the equivalent logic circuit for the following Boolean Expression: A.(B+C”)
4. Name the law shown below and verify it using a truth table:
A+B.C=(A+B).(A+C)
5. Name the following law and verify them using a truth table:

ax+tx =1

b.x+y=y+X

C.X+t(y+z)=(x+ty)+z
6. Which gate returns true if both inputs are similar otherwise false.
7. Which of the following gate is also known as an inverter.
8. Draw the truth table for XOR and OR gate.
9. There are three fundamental operations in Boolean algebra: addition, multiplication, and
inversion. Each of these operations has an equivalent logic gate function and an equivalent relay
circuit configuration. Draw the corresponding gate and ladder logic diagrams for each
10. A riddle based on Boolean logic You are walking and arrive at a dead end with 2 doors. You
must get past this, but you are told that only one door is correct, leading you on your path and the
other door is not correct and leads to something perilous. In front of each door is a guard. One
guard always tells the truth and the other always lies. You may ask one of the guards one question,
and then you must pick your door and go through it. What question do you ask, which door do you
pick based on the answer, and why?

SUBJECT- PHYSICAL EDUCATION

1- SAI Khelo Fitness Test

2- 1 Major game (History of game, Terminology, Court Measurement, Rules &
Regulations)

3- Practice Yoga Asanas during the summer holidays (2 sitting, 2 laying, 2
standing)= On 21 of June submit the video of these asanas while practicing.

4- Practice Surya Namaskar during the vacations Make a video of Surya Namaskar
submit it by 21 of June.

SUBJECT- FINE ART
e Five still life with pencil shading
e five painting according to your choice with water colour.

SUBJECT- HINDUSTANI MUSIC VOCAL
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